
              

 

   

 


𝐴

2

V = D3/6 y A = D 2/4 


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𝜋𝐷3 (p - f)  = C  f  v2 D2/8 

 C = 24/Re  



 v = D2  g  (p - f) / 18 

 



v = D2 . a . (p - f) / 18 

Fs = V . g . (p -f) 

Fd = C . f . v2 . A/2 
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Fc = m.r.w2 

 

  r.w2 


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f 

p 

 v = D
2
  g  (p - f) / 18 

 (5.10−5)2   m2  9,8 [m/s2](1280  – 1,2)[Kg /m3]

18 .1,8 10−5  [Pa .s] 
=  1,9[ 

𝑚

𝑠
]



0,0

10,0

20,0

30,0

40,0

100 90 80 70 60 50 40 30 20 10

  

- 98 -



              

 - 99 -



              

 

v = D
2
  g  (p - f) / 18 

v
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𝑣𝑡 =
𝑟𝑤2𝐷2(𝛿2−𝛿1)

18 𝜇
𝑣𝑡 =  

𝑟𝑤2𝐷2(𝛿2−𝛿1)

𝛿1
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∅ =
𝑑𝑚

𝑑𝑡
= 𝛿

𝑑𝑉

𝑑𝑥
 𝛿

𝑑𝑥

𝑑𝑡
 𝛿
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𝐷𝑣𝛿

𝜇

𝑓𝐿

𝑣
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